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QUESTION 1
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You are explaining to a colleague that Human Capital Management, in SAP ERP, stores an employee\\'s data in info

type records. Which statements correctly describe the features of info types?(Choose three)

A. The personnel file lists only the info types valid for the current period.

B. Each info type record has a validity period or a key date.

C. Personnel actions display all of the relevant info types for you to maintain, one after the other.
D. Info types can only be maintained for one personnel number at a time.

E. An info type is a logical grouping of data fields.

Correct Answer: BCE

QUESTION 2

A billing document is created in the order"to-cash business process.

What integration business processes occur when the billing document is saved? (Choose two)
A. On-hand inventory is decreased.

B. Actual demand is reduced.

C. An open item is posted on the customer\\'s account.

D. Revenue is increased.

Correct Answer: CD

QUESTION 3

A GR is used for goods received from which of the following scenarios: (Choose all that apply)
A. External procurement from a vendor

B. Stock transfer

C. Transfer posting

D. From a production order

Correct Answer: AD

QUESTION 4
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In Engineering Change Management, the Change Number structure includes which if the following? (Choose all that
apply)

A. Header

B. Item

C. Object change records
D. Object types

Correct Answer: ACD

QUESTION 5

What is the purpose of a routing in the manufacturing business process?
A. Lists the sequence of steps for producing a material.

B. Lists the specific output of a resource.

C. Provides formulas for scheduling and capacity planning.

D. Collects actual labor and machine costs.

Correct Answer: A
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